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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

December, 2022 

LIFE SCIENCE 

LSE-10 : ANIMAL DIVERSITY-II 

Time : 3 hours Maximum Marks : 75 

Note :  Question no. 1 is compulsory. Attempt questions 

number 2 and 3 as per given instructions. 

1. (a) Fill in the blanks with the alternatives 

given in the parenthesis : 71=7 

(i) The nerve cord is ________ 

(dorsal/ventral) in chordates.   

(ii) Homocercal tails occur in ________ 

(bony/cartilaginous) fishes.    

(iii) _______ (Protochordates/Cephalochordates) 

are called as lancelets.   

(iv) _______ (Amphibians/Reptiles) are the 

first completely terrestrial vertebrates.  

(v) The caecum is absent in few ________ 

(carnivores/herbivores). 

(vi) _________ (Anopsida/Synapsida) are 

represented today by turtles. 

(vii) ________ (Ratites/Carinates) have lost 

keel in their sternum as a result of 

which their sternum is flat.  
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(b) Read the following and match Column A 

with Column B :  71=7  

 Column A   Column B 

(i) Flightless bird (a) Spiny ant-eater 

(ii) Urodela  (b) Pouched mammal 

(iii) Flying Fish (c) Teeth are lost  

(iv) Prototheria  (d) Forelimbs modified 

as flippers 

(v) Marsupials  (e) Exocoetus   

(vi) Edentata  (f) Salamander  

(vii) Cetacea  (g) Emu 

(c) Define in one or two sentence(s) each of the 

following :  61=6 

(i) Perissodactyla  

(ii) Diastema   

(iii) Vibrissae   

(iv) External gills   

(v) Syrinx   

(vi) Lymphatic system       



LSE-10 3   P.T.O. 

2. Attempt any five questions. 

(a) Discuss the characteristics of Hemichordata. 5 

(b) Explain the salient features of amphibians 

with reference to their skin, buccal cavity, 

limbs, lungs and heart. 5 

(c) Discuss the ancestry and evolution of birds. 5 

(d) Describe the principal glands derived from 

integument found in mammals. 5 

(e) Draw a neat diagram of hearts of shark and 

teleost. (No description is required). 5 

(f) Describe the echolocation in bats. 5 

(g) Explain the mechanism of Bioluminescence. 5 

3. Attempt any three questions :  

(a) Discuss the phylogeny and succession of 

kidney in vertebrates. 10  

(b) Describe the distinguishing features of 

reptiles as compared to aves. 10 

(c) Give the comparative account of digestive 

system in vertebrates. 10 

(d) Describe the peripheral nervous system in 

vertebrates. 10 

(e) What is innate behaviour ? Describe the 

different forms of innate behaviour in 

vertebrates. 2+8=10 
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 Eb.Eg.B©.-10  

 {dkmZ ñZmVH$ (~r.Eg gr.) 
gÌm§V narjm 

{Xgå~a,  2022 

Ord {dkmZ 

Eb.Eg.B©.-10 : àmUr {d{dYVm-II 

g_` : 3 KÊQ>o A{YH$V_ A§H$ : 75 

ZmoQ> : àíZ g§»`m 1 A{Zdm ©̀ h¡ & {XE JE {ZX}em| Ho$ AZwgma àíZ 
g§»`m 2 Am¡a 3 Ho$ CÎma Xr{OE &   

 

1. (H$) H$moîR>H$ _| {XE JE {dH$ënm| go [aº$ ñWmZm| H$s ny{V© 
H$s{OE :  71=7 

(i) H$m°S>}Q>m| _| V§{ÌH$m aÁOw _______ (n¥îR>/AYa) 
hmoVr h¡ &  

(ii) g_nm{b nwÀN> ______ (ApñW_`/CnmpñWg_) 
_N>{b`m| _| nmB© OmVr h¢ &   

(iii) ________ (àmoQ>moH$m°S>}Q>/go\¡$bmoH$m°S>}Q>) boÝgboQ> 
H$hbmVo h¢ &    

(iv) ________ (C^`Ma/garg¥n) g~go nhbo 
nyU©V: ñWbr` H$eoéH$s àmUr h¢ &   

(v) Hw$N> _______ (_m§g^{j`m|/emH$^{j`m|) _| 
grH$_ AZwnpñWV hmoVr h¡ &  

(vi) dV©_mZ _| ________ (EZmopßgS>m/{gZopßgS>m) 
H$ÀN>nm|/Hy$_m] H$m à{V{Z{YËd H$aVo h¢ & 

(vii) _________ (aoQ>mBQ>m|/H¡$arZoQ>m|) H$s CamopñW _| 
H$sb bwßV hmo JB© h¡ {OgHo$ H$maU CZH$s 
CamopñW MnQ>r hmoVr h¡ &    
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(I) {ZåZ{b{IV H$mo n{‹T>E Am¡a H$m°b_ A H$m H$m°b_ B 

go {_bmZ H$s{OE :  71=7 

 H$m°b_  A   H$m°b_  B 

(i) Zht C‹S>Zo dmbm 
njr  

(H$) eyybr MtQ>rImoa  
(ñnmBZr E§Q>-B©Q>a)  

(ii) `yamoS>obm (I) W¡br ẁº$ ñVZr  

(iii) C‹S>Zo dmbr _rZ  (J) X§V bwßV hmo JE h¢  

(iv) àmoQ>moWr[a`m  (K) AJ«nmX A[aÌ (pâbna) 
_| ê$nm§V[aV hmo JE h¢  

(v) _mgy©{nEëg (L>) EŠgmogrQ>g 

(vi) B©S>oÝQ>oQ>m  (M) g¡bm_oÝS>a 

(vii) {gQ>o{g`m  (N>) B©_y  

   

(J) {ZåZ{b{IV _| go àË`oH$ H$mo EH$ `m Xmo dmŠ`/dmŠ`m| 

_| n[a^m{fV H$s{OE :  61=6 

(i) no[agmoS>¡ŠQ>mBbm   

(ii) S>m`ñQ>r_m   

(iii) dmB~«rgr   

(iv) ~mø Šbmo_ ({Jëg)   

(v) epãXZr (gmB[aŠ̈g)   

(vi) bgrH$m V§Ì   
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2. {H$Ýht nm±M  àíZm| Ho$ CÎma Xr{OE & 

(H$)  ho_rH$m°S>}Q>m Ho$ bjUm| H$s MMm© H$s{OE & 5  

(I) Eå\$s{~`Zm| (C^`Mam|) Ho$ à_wI bjUm| H$s ì`m»`m 
CZH$s ËdMm, _wIJwhm, nmX, \o$\$‹S>m| Am¡a öX` Ho$ 
g§X^© _| H$s{OE & 5   

(J) n{j`m| H$s nyd©OVm Am¡a {dH$mg H$s {ddoMZm  
H$s{OE &  5 

(K) ñV{Z`m| _| nmB© OmZo dmbr AÜ`mdaU go ì ẁËnÞ à_wI 
J«§{W`m| H$m dU©Z H$s{OE & 5   

(L>) emH©$ Am¡a Q>r{b`moñQ> Ho$ öX` Ho$ ñdÀN> {MÌ  
~ZmBE & (dU©Z H$aZo H$s Amdí`H$Vm Zht h¡) &  5 

(M) M_JmX‹S>m| _| à{VÜd{Z {ZYm©aU H$m dU©Z H$s{OE & 5  

(N>) Ord-g§Xr{ßV H$s {H«$`m{d{Y H$mo g_PmBE & 5  

3. {H$Ýht VrZ àíZm| Ho$ CÎma Xr{OE :  

(H$)  H$eoé{H$`m| (dQ>u~«oQ>m|) _| JwX} Ho$ Om{Vd¥Îm 
(\$mBbmoOoZr) Am¡a AZwH«$_U H$s {ddoMZm H$s{OE & 10   

(I) n{j`m|/EdrµO H$s VwbZm _| garg¥nm| Ho$ {d^oXH$ JwUm| 
H$m dU©Z H$s{OE &  10  

(J) H$eoé{H$`m| _| nmMZ V§Ì H$m VwbZmË_H$ {ddaU  
Xr{OE &  10  

(K) H$eoéH$s àm{U`m| _| n[aYr` V§{ÌH$m V§Ì H$m dU©Z 
H$s{OE &  10  

(L>) OÝ_OmV ì`dhma Š`m hmoVm h¡ ? H$eoé{H$`m| _| 
OÝ_OmV ì`dhma Ho$ {d{^Þ ê$nm| H$m dU©Z  
H$s{OE & 2+8=10 

 


